FAST IAS ACADEMY

e

Who is the highest run scorer in IPL 20237
A. BT § @R

Faf du Plessis

B. YT et

Shubman Gill

C. forTe Pigeft

Virat Kohli

D. UHHR 1ed

Suryakumar Yadav

2) e § wfid g1 are e fge Udid
BI?

The 'sengol’ going to be installed in the
Parliament will be a symbol of the?

a. Y¥ BT YA

Rule of Dharma

b. fdg@ &1 A

Rule of Hinduism

c. Al &1 A

Rule of Tamil

d. JYT1C D1 RMHA

Rule of Monarch

3) 8T 81 H IR =1 & S 3 aTal HTeT didT &1
I 82

What is the name of the female cheetah who
recently gave birth to four cubs?

A. 3R

Asha

B. YTl

dhatri

C.A4T

Nabha

D. SdTdl

Jwala

4) HF, H20, NH3 31 # f5d YR & &4 Urg
ST §?

What types of bonds are found in HF, H20, NH3
etc.?

A. fagga Tareh sy

Electrical connective bond

B. g TATSh &Y

Co-connective bonds

C. UGS &Y

Sub-covalent bonds

D. BTSSIoH 8¢

Hydrogen bonds

What are the examples of clouds and fog?
A. %d H %d &1 faer

Dissolution of liquid in liquid

B. %d H 31 1 faer

Dissolution of solid in liquid

C. 9 # 319 31 faaad

Dissolution of solid in gas

D. 719 ¥ %4 &1 faaaA

Dissolution of liquid in gas

6) HRA H fUd 9y &1 T S ¥ foret fop 1t
TR §17 741 87

On which river is the world's highest rail bridge
located in India?

A. TS

Chenab

B. g

Jhelum

c. Ry

Indus

D. T

Ganga

7) @ & {59 701 & HRU 3TaTS Ao 3R He
S ol &7

Due to which property of sound does the voice
sound loud and dim?

A. USddl

Loudness

B. R

Pitch

C. 701t

Timbre

D. ufqeafd
Echo

8) T Y b AT THSION & RIFHIABRIT P
YA aTell Ugal YRR WER I AT ]2

Which is the first Indian city to adopt the
localization of the UN-mandated SDGs?

A. Ot

Pune
B. HiaTd
Bhopal

C. 4%
Mumbai

D.
Hyderabad

@79872-03075 , 62612-27060 & www.fastinstitute.in




FAST IAS AGADEMY

What is the full form of ISRO?

A. 3o Tearse e siifrgorRME
Indian Satellite Research Organization

B. 3T W e sififArgoe™

Indian Space Research Organization

C. 3T W RagaRM SHiHTEoRM
Indian Space Reconstruction Organization
D. e Seamse fod TaiRieRe

Indian Satellite Research Association

10) Fafefad & 19 98 gafed T2 87

Which of the following is not correctly matched?
A. eI forrgd - 98 ¥ 9ag

BrahMos missile - surface to surface

B. BR[@ s - gdg Y9y

Trishul Missile - Surface to Air

C. 3% fimsa - 91 9§ qdg

Astra Missile - Air to Surface

D. AT frars - 3% WY

Nag Missile - Anti-Tank

11) *RR BT G KT 3T 8l 62
What is the busiest part of the body?
A. Tt

Kidney

B. HIIsh

Brain

C.gad

Heart

D. Bl

Lungs

12) forlt <=1 & AMIRSD| B TWHR a1 Td Yarg
U&H B4 & o TR SR a1 Menfiiest B1
T TNT AT Al 82

Coordinated use of communication and
information technology to provide government
information and services to the citizens of a
country is called?

A. HHCIABRT

Computerization

B. 3fTarg IufRyfa

Online presence

C. {TaTg ¥udh

Online Contact

D. f&fSred g

Digital Governance

SR GRT G <% B JHUM Uga & ufshar
PRl &7

The process of one country harming another
country using internet and related technologies
is called?

A. TTGHITR

Ransomware

B. TSR
Cyberbullying

C. TR i
Cyber stalking

D. HgeR dR AR
Cyber Warfare

14) Frafafad & & w1 98t 87
Which of the following is correct?

1) 9% $7Yc 3M3cye Riew - ™

Basic Input Output System - BIOS
2) TR 31 ¥eth ¢ -ORe
Power on Self Test - Post

3) Hide & I ofiFa AaRT - i€t
Compact Disk Read Only Memory - CD-ROM
4) UIeSd SIRgHT HIRAC Rei iy
Portable Document Format - PDF

a. 3,4

b.2, 3

c.1,34

d1,234

15) T, US-019 3fR Siig-sig 1S & fae
Ayl ¥ B It g2

Which are the important gases for humans,
plants and animals etc.?

1. SileRiH

Oxygen

2. BT SRS

Carbon dioxide

3. AISgIeH

Nitrogen

4. 3T

Ozone

A 14

B.1,3,4

C.1,3

D.1,23,4
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forad g7

HTML, XML, PHP etc are related to?
A. T® UHR & UIcrdpId g

These are a type of protocols

B. U% UHR &I TRHIHTH AT &
A type of application software

C. &Y &g S&Y R U HINE §
The languages used on WWW are
D. $e3C Uil Ugd &

These are Internet Protocol addresses
17) Fguwﬁméﬁmw% St
A1 8?

National Informatics Centre comes under
A. i w3rerg

Ministry of Education

B. YT Ud URUT HATHT

Ministry of Information and Broadcasting
C. SATEIa Td T Nt Frer
Ministry of Electronics and Information
Technology

D. 39 wd Uelifiest Harera

Ministry of Science and Technology

%S)thﬁﬁaﬁr@aﬁﬁﬁq-aﬁqwmﬁﬁm
?

Which of the following is involved in the
environment?

1. A U -0

All Trees and Plants

2. TR Sfig Sig oI AHd, SFaR, fasmoy Sftar g
HYg

All living beings such as humans, animals,
viruses, bacteria and others

3. 5, arg, ettt enfe

Water, air, soil, minerals etc.

4. TR T SRy Sruif
Renewable and Exemplary Energy

A 1,2

B.1,2,3

C.234

D.1,2 3,4

19) Fraforied & & wm ot 76 &2

Which of the following is not correct?

A. UTfieh FuHieRT H T, Fa, g1t ot ofrd 8
The primary consumers include cows, goats,
elephants etc.

B. fediaes Suviea & Afgar, diae) onfe emd €

The secondary consumer includes wolf, fox etc.

The tertiary consumer includes snakes, hawks,
lions etc.
D. 3{Uge- &df § faum] 3rd §

Decomposers includes viruses

20) TafaR0T TREUT ¥ Yefdd TraHl & IR | a1
e el &7

What is not true about the conventions related
to environmental protection?

A. TOTaRYT faeT Ud TRefur & fore ugen Iwa
WiHgH T 1972 H g3 ol

The first convention for environmental
development and protection was held in
Stockholm in 1972

B. T Tt FRIeR qreH Rl St SiFR1 sroitet |
1992 T gaiT T

The first Earth Summit was held in Rio de Janeiro
Brazil in 1992

%.nﬁuﬁuﬁﬁa 1987 BT HaiY SIS TREO1 A

Montreal Protocol 1987 deals with ozone
protection

D. ST SHed 2002 H Jdu I 5189
?1'?' BT HISC, BT raTl 3G BT HHedT 315

The concept of green house gas, carbon credit,
carbon trading etc. first came in the
Johannesburg conference in 2002

21) HaTE T AT F IR F 37 G T 12
What is not correct about the Bhopal Gas
Tragedy?

A. T8 g 2- 3 fadeR 1984 &1 ufed gs ot

This incident happened on 2-3 December 1984
B. S YT & T g Frafss Ut (gua)
BT TG IR TSE T

Warren Anderson was the head of Union
Carbide Company (USA) at the time of this
incident

C. 39 3MUaT ¥ Fued & frg SioX uiel I
T

Operation Polo was launched to deal with this
disaster

D. 39 UcT  fiuTSd sl Aig-ie I 1 Rama
g3l

Methyl isocyanate gas was leaked in this incident
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A I N R T r e e e

SfTa=F el Tg! B o7
Which of the following is not required for acid
rain?

A. TISCIoH & SIS S
Oxides of Nitrogen

B. TR & sifaass
oxides of magnesium

C. TR & SHISS
oxides of sulfur

D. SIcTdTeT AT 3Tl
water vapor or humidity

23) A¢ RS & IR & 7 Get el 82

What's not right about chat GPT?

A. I¢ ST goR gRT U T aTal & SYR W
STaTd & /IoTdl §

Chat GPT searches for answers based on
questions asked by the user

B. T St & SXaHTA B & foIU Ior &1

B 3 B e Bl @

To use chat GPT, the user needs to give a
command

C. e Sl ¢oRe 3R SHG 1 1 TH Heball &
Chat GTP can understand both text and images

D. T S} adt SRe B! g THS bl &

Chat GPT can only understand text

24) Ffafad o gfaor ¥ IR & 3k T8l HH |
afRYd HIfTT g2

Arrange the following in the correct sequence
from south to north?

A. YT, arait e, fdeatad, e 7

Satpura, Tapti River, Vindhyachal, Narmada River
B. AT 1€, g, fdeara, e et

Tapti River, Satpura, Vindhyachal, Narmada River
C. AT 7Y, FaqeT, e e, [

Tapti River, Satpura, Narmada River, Vindhyachal

D.JdqgeT, HeT e, arit A4, fdeaa
Satpura, Narmada River, Tapti River, Vindhyachal

25) HRAH A &1 faRwdr 7t |7

Which is not a feature of the Indian monsoon?
A. HH IHI | i aul

More rainfall in less time

B. AT 1 fayrar

Break in the Monsoon

C. 99 IHg d% TR a8

Continuous rain for a long time

D. YA b1 i

Vagaries of monsoon

gUIfad &5 B Iq1 82

Which is the most affected region of India by
tropical cyclones?

A. HRd 1 UiEH Yagidig ac

Western peninsular coast of India

B. YRd &I Ydl UIg o a&

Eastern peninsular coast of India

C. HIRd HT IR Ui &

North Western region of India

D. HRd &1 JaiR &

North Eastern region of India

27) Frufefad § 9 & W 7t eRe IR § T8)
iR &2

Which of the following river does not fall into
the Arabian Sea?

A. ATt et

Tapti River

B. A8

Vaigai

C. Hisdl

Mandvi river

D. HRd YoIt

Bharat Puja

28) FfeRad o w5t gafea 82

Which of the following is correctly matched?

1. Td PR Td Sfeqeieyds Aitifc o 3regel
TRER FEAHHTS 7o o

Sardar Vallabhbhai Patel was the chairman of the
Fundamental Rights and Minorities Committee
2. X9 dfaue Ifafa & sreer 3T Ioig UeTE A
The chairman of the Union Constitution
Committee was Dr. Rajendra Prasad

3. e AT & S{egel SfareRard Jg® U
Jawaharlal Nehru was the chairman of the
steering committee

4. gidia Tfqu™ Ifiifa & sregef AR TeaHHTS
ged 3

Sardar Vallabhbhai Patel was the chairman of the
Provincial Constitution Committee

A 1,23

B.2,3

C.1,4

D.1,2 4
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29) obl | U (W G W TRI @ 67 | Both the Center and the States have the right to

Which country does not share border with
Ukraine?

A. gferr

Serbia

B. SR~

Belarus

C.Uds

Poland

DT

Romania
%O)&rrfauﬁam"rwﬁrmﬂsﬁﬂwnﬁﬂé
?

On which continent is the origin of primitive
man considered?

A. 3R

America

B. TR

Asia

C. 3hIPT

Africa

D.RIY

Europe

31) TR, éaff 9 e 3 HY g1 wu 3 [
Sefarg § &1 St 82

In which climate is agriculture of grapes, olives,
apples etc mainly done?

A. fagad Tdig sidarg

Equatorial climate

B. HAMT Siefdig

Savannah climate

C. YAZHIRIY S[cdry

Mediterranean climate

D. fid Sy

Cold climate

32) fFrofafad o g 76t /2

Which of the following is not correct?

A. YR A MAEH-1919 & dgd faadl &l
fqurem 9 gt A fear mar g

The division of powers under the Government of
India Act-1919 has been done in three lists

B. YIRd U SgH-1935 & d8d Ay
il &1 IR oY iy feam mar

Residuary powers were given to the Viceroy
under the Government of India Act-1935

C. JHIcH gt & fawdl IR &g Ud Il Bl Gl D
T S 37 iR B fobg faare &t fRufa & I
qyTdt 8T

make laws on the subjects of the Concurrent List,
but in case of dispute, the Center will be
prevailed

D. HRd X SHTAFH-1919 & dgd UIal
frafee &t sgawn 31 71 <&

Direct election was arranged under the
Government of India Act-1919

33) Fufafaa o ffeal & aR & w9t 82
Which of the following is correct about soils?
A. G 3ifie IUSTT, el et Eict 8

The most fertile soil is black soil

% T 3feeh SIdt YIRUT &I Sl (el &1 gral

Alluvial soil has the highest water holding
capacity

C. Tora ®IM W 200 § 300 HHteR auf it &, I61
W dexrse gl o St 8

The place where there is 200 to 300 cm rainfall,
laterite soil is found

D. HUN P H1Y & o ret Uielt gt oifde
STanh g 8

Red Yellow soil is more useful for cotton
cultivation

34) 3G 21 & dgd FEfifad A Y HH @
EECIEE S

Which of the following provision is not covered
under Article 217

A. ToTdT &1 SR

Right to Privacy

B. TwS UATaRUT BT SABR

Right to clean environment

C. 3{dTY ¥ 30 ¥H DI A BT SHUBR
Right to freely practlce one's religion

D. TT0T 31R fedh Taciardl &1 SHipR

Right to life and personal liberty

35) Fafifed & 9 &1F 981 o7
Which of the following is correct?

A. TfaeT T Xere Iyl e 3

The protector of the Constitution is the President
B. Jd SATIPRI BT Xefeh ated raTerd giel 3§

The protector of fundamental rights is the
Supreme Court

C. AHa SHYBRY BT e YeTTHAT Erefl &

Prime Minister is the protector of human rights
D. Ty &1 U Hid 99 @

Parliament is the main source of constitution
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RISTR g &1 qui e & 77

In which of the following has the description of
health, environment, peace and employment etc.
in the Indian constitution?

A. TRdTa-AT

Preamble

B. Hd HfUBR

Fundamental Rights

C. I ¥ fd g da

Directive Principles of State Policy

D. Jd &

Fundamental Duties

37) HRd & FUfd & et &t Ufshar & wfere
TR 81 &7

Which mill is not used in the process of election
of the President of India?

A. AHIHT & T fFaffad Jed

All elected members of the Lok Sabha

B. STIHT & T e

All the members of Rajya Sabha

C. Il & fqymvTeti & Faifad Jes
Elected members of state assemblies

D. TifgaRt iR feeeh faumaun & faifad ge
Elected members of the Pondicherry and Delhi
Legislative Assemblies

38) fordll WG YG™I &I HH I HH b Iy AT
I 3HfAD BT TR R Y Giftid A R
HEHII €, P STl 57

Membership is cancelled if a member of
Parliament is declared guilty by the court for at
least how many years or more?

A 13aY

1 year

B.2 Ay

2 years

C3dy

3 years

D.5ay

5 years
%9)ﬁgi%fr@?rﬁ®aﬁ=rwaﬁvghw=ﬁ%$aﬁ
?

Which of the following party is a national
political party?

A. 3TH

Aam Aadmi Party

B. JUNW HIUd

C. AP Hrgfe uref

National Communist Party
D. IT81a Sy uret

National Congress Party

40) AEAYCRT § AR IS19%T &1 Aoy forg &7 9
Yr?

With which region was the Tomar dynasty
related in Madhya Pradesh?

A.

Ujjain

B.

Gwalior

C. Jfar

Rewa

D.3fIR&T

Orchha

41) frgfafed & & o1 w1 82

Which of the following is correct?

1. RN = ST ORI AT AR BT &= ot
Ashoka made Vidisha his second capital

> TR gl SifrE & Sl o1 AT et
=M fhrera §

Ashoka's name Priyadarshi Ashoka is found in
Gurjara Datia inscription

3. 33N A Aidt & qT wqul &1 FAafor Hxamn ar
Ashoka had built all the stupas of Sanchi

4. 3MNeb B FUY HAG Bl & sieia
afd 8

Rupnath inscription of Ashoka is located in
Boriband of Katni

A1,23

B.2, 4

C1,4

D. 1,24

42) FAgfoiaa o @ frge ¥ey 1857 & fagig
el 87

Which of the following is not related to the
Revolt of 18577

A. 3T 3R Wi HigHe Tt

Adil and Fazil Mohammad Khan

B. X! Sl &8

Rani Avanti Bai

C. I aefiers

Rani Laxmibai

D. YT gaadt

Rani Durgavati
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Which of the following causes rainfall in Madhya
Pradesh?

1. 3RS YR &I @1 A

From the branch of the Arabian Sea

2. QA &1 WTe! B IRAT I

From the Bay of Bengal branch

3. gf3y faeny 9

Western Disturbance

4. IR Y4l AT ¥

From the North East Monsoon
A 1,2

B.2, 4

C123

D.1,2 3,4

44) T YR H TN UrfFaH 9gH AAIEe 3R
9 gl U git 57

Where are the oldest rocks granite and gneiss
found in Madhya Pradesh?

A. SUTES BT USR

Plateau of Baghelkhand

B. §4TES BT UGR

Bundelkhand Plateau

C. HIcdT 1 USR

Malwa Plateau

D. 3tdT U+l &1 USR

Rewa Panna Plateau

45) Frafafad & @ $1 9t gafed g7

Which of the following is correctly matched?
A. OTed BT ISR - THT%a R &1 forgh
Malwa Plateau - Mixed type of sail
B. THal HTe] - Breil fAgt
Narmada Valley - Black soil

C. TGS HIUSR - Sdlig gl
Baghelkhand Plateau - Alluvial soil

D. U URA HIUSR - drdl Utelt fgt

Central India Plateau - Red Yellow soil
46) FHaT 7} T1et uRAeH § SH-HH I I
it g2

Which states are included in the Narmada River
Valley Project?

A. HEH YA, ISR, TORTd, HERTY

Madhya Pradesh, Rajasthan, Gujarat,
Maharashtra

B. 4% eI, ToRTd

Madhya Pradesh, Gujarat

C. Hed UG, ORI, ST

Madhya Pradesh, Gujarat, Rajasthan

Madhya Pradesh, Maharashtra, Gujarat

47) e § 3 we gafed 82

Which of the following is correctly matched?
A FREAE 9gdal - HRd & fHeed
Makhanlal Chaturvedi - Milton of India

B. BIfcIard - HRd 1 TAT
Kalidas - Soul of India

C. Haufd - YRA & YRR
Bhavabhuti - Shakespeare of India

D. QUK AR AIgM - Tl Difvel
Subhadra Kumari Chauhan - Independence
Nightingale

48) 1 U 2007 BT URY ST T8 ArSal A&t
IS BT 3T &7 UT?

What was the objective of Ladli Laxmi scheme
launched on 1st April 2007?

A. STfeTeT S o Ufd ST H YhRIHS I
Positive thinking in public towards the birth of
girl child

B. fefTura & gur

Improvement in sex ratio

C. SferepTaf &1 Qeiftre SR area o1 fufa &
JUR

Improving the educational and health status of
the girl child

D. JWIad FHt

All of the Above

49) fAgfoiea & @ &1 w8t gafed T8t 87

Which of the following is not correctly matched?
A. "5 SaH, 5 fam, 51 fa” - o1 S8TgR
TRt

“Jai Jawan, Jai Kisan, Jai Vigyan" - Lal Bahadur
Shastri

B. "R gl ¥ 38 fggea™ gaRI” - Shard
“Saare Jahan Se Accha Hindustan Hamara” -

Igbal
IRNED

“Swaraj is our birth right” - Bal Gangadhar Tilak
D. "TRUGRILN &} aHHT 31 gHR fea # g -
AYETG fae

“Sarfaroshi ki tamanna ab hamare dil me hai” -
Ramprasad Bismil
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Which of the following is not correctly matched?
A. TR dibTed - HreaT

Gammat folk drama - Malwa

B. U@ db-Tcd - JUTES

Mansukh folk drama - Baghelkhand

C. P! ArpTeT - oS

Nautanki folk drama - Bundelkhand

D. ISl Aipled - He HIRd &1 ISR
Raslila folk drama - Plateau of Central
India

51) Fafifaa # @ oH I8 87

Which of the following is correct?

1. AEUGY YARIE - e
Madhya Pradesh Festival - Bhopal

2. AN TURIE o Rl
Tulsidas Festival - Satna

3. 9WME MR EA THRE - A
Ustad Aamir Khan Samaroh - Maihar
4. I GHRIE - TR
Tansen Samaroh - Gwalior
A 14

B.2, 4

C13

D.1,2,3,4

52) Frafafad & @ S Aavew J adqm IsgaHl
T g1 87

Who among the following is not a current Rajya
Sabha member from Madhya Pradesh?

A. R g Aicipt

Sumer Singh Solanki

B. SiferRifec f¥iferan

Jyotiraditya Scindia

C. AR Trfet

Gyaneshwar Patil

D. fafiaerg f¥ig
Digvijay Singh

53) 24 SERT 2021 D1 UG A {58 Ao &
Ted URY fobar T ur?

Under which scheme the Pankh Abhiyan was
started on 24 January 2021?

ISR ESIRICEI

Ladli Laxmi Yojana

B. Hg Wl SR~ T IHIT

Mahila Jagrukta Abhiyan

C. St g, 9t ugraf AT

Beti Bacho, Beti Padao Yojana

Gaon ki Beti Yojana

54) "9 Bl U, T PI5 qaiel, 7 Pl dbia” 3Mfe
o1 Yy T-&I U I foras 82

“No appeal, no plea, no lawyer” etc. mainly refers
to?

A. 3[EEINT G

Non-Cooperation Movement

B. SifcraiaTell ST i

Jallianwala Bagh incident

C. e Tae

Rowlatt Act

D. Uy fay g

First World War

55) Wl SagIol & J&¢ fHad gt 32
With whom is Lord Dalhousie not related?
A. YR B X &1 fAHfor

Construction of Rail in India

B. YR H faurita voment

Departmental system in India

C. T Rygia

Doctine Lapse

D. 38 f&xwr 1854

Wood's Despatch 1854

56) PR o & 1 w8t gAferd et 37
Which of the following is not correctly matched?
A. IH-T-RTT - UM fawm
Diwan-i-Khairat - Pension Department
B. §ldM-T-JRaeRS - o faumT
Diwan-i-Mustakhraj - Finance Department
C. oiier-u-garfaes - =g faum
Ariz-e-Mumalik - Military Department

D. sRiG-T-HHT(H - TR fauTT
Barid-e-Mumalik - Intelligence
Department

57) Rra % 3151 ¢d &1 gt fhe axars e
Who got the Sikh Guru Arjun Dev killed?

A. AP

Akbar

B. WIgIfR

Jahangir

C. RMMgTel

Shahjahan

D.3iR

Aurangzeb

@79872-03075 , 62612-27060 & www.fastinstitute.in




ST TR oo oooo———————

Which of the following is correctly matched?

A. fasrafRren fayfasmera ot RITGHT - URTW
Establishment of Vikramshila University -
Kumaragupta

B. Tehi b1 SHfcrH U Y URIFSTd fobam T -=igied
faspriae fedta

Shakas were finally defeated by - Chandragupta
Vikramaditya Il

C. §UII & TRIfoId fobam o1 - Whg T

Hunas were defeated by - Skanda Gupta

D. &U1 HRA & 12 Il & TS bl WRIferd
fepam o - FgEa

Defeated the organization of 12 states of South
India - Samudragupta

59) TSWI TIdT § ST B TT U T 77
Which statement is true regarding the Harappan
Civilization?

1. 98 J¥el 3% i GyH TR Fear o

This civilization was the first urban civilization of
the world

2. 98 a1 §g ¢adial Ud Uphfd gore ot

This civilization was polytheistic and nature
worshipper

3. 9% GWIdT DY Td U] UTer UeT ot

This civilization was agriculture and animal
rearing

4. g8 9ygaT § T 3R 9IS BT JUH 3% S8
gane

Cow and horse have been described more in this
civilization

A 1,2

B.2, 4

C123

D.1,2,3,4

60) FAfeRad 1 gt gAferd Hiford?

Match the following correctly?

a. quT 1. 31 S DT IR

Assembly 1. Organization of common people

b. FfEfa 2. Sifged afeaal o T=ra

Committee 2. Association of Intellectuals
c. fagy 3. I i) o =T

Vidth 3. Association of military persons

d. 1o 4. Y ofaaal &1 TR0
Gana 4. Association of religious
persons

A 1,243

B.3,4,1,2

C.21,4, 3

61) Fafeiad &1 Tgt gAferd Hifere?

Match the following correctly?

Bl TR

Declaration Body

a. Al Afa 1. T ST
Monetary Policy 1. Policy Commission
b. SIS ifct 2. B FiRkeAB! SHTANT
Fiscal Policy 2. Central Statistics Commission
. Ghd WY 3G 3. fo Harer

GDP 3. Ministry of Finance
d. TRIe T ATIH 4. Horg Rerd o

Measurement of poverty 4. Central Reserve Bank
A. 4,321
B.3,4,1,2
C.2143
D.4,3 1,2

62) TS SgT AT & IR H o1 Tat 82

What is true about Ladli Bahna scheme?

1. 3P 35 Afgansf ! foxiig @ ¥ srafiik
Ud e ST 8

Its objective is to make women financially
independent and empowered

2. 39 Ao & dgd 9+t ol @) faarfea Afganait
o e fopar mar §

Married women of all classes are included under
this scheme

3. Had 7 USRI B ol Aleasil &l 3qHT ATH
e

Only women of Madhya Pradesh will get its
benefit

4. A & URAR &1 d1fes 3117 5 G ¥ HH &l
The annual income of the woman's family should
be less than 5 lakhs

A 1,2

B.2,4

C.123

D.1,23,4

63) HEAYQRI 1 UHE S P! gt gaferd
HIT?

Correctly match the major G.I. Tags of Madhya
Pradesh?

TRAT 1. Pl
Morena 1. Carpet
=i 2. o
Ujjain 2. Gajak

3. 9fc flie
Rewa 3. Batik Print
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aTfeRR 4. Yol 3
Gwalior 4. Sundarja Mango
A 2341

B. 1,234

C. 4,321

D. 341,22

64) ATHST W 2022 H DI 1 RAATS! HAUGH
Q A gl U1?

Which player was not included from Madhya
Pradesh in Commonwealth Games 20227

A. SifrT Rt (deferfte)

Anchita Shevli (Weightlifting)
B. fad® TR @l

Vivek Sagar (Hockey)

C. QoI G dhR

Pooja Vastrakar (cricket)

D. HIR AU (Stafer o)

Neeraj Chopra (Javelin Throw

65) Fafefad & & B9 9 gafa 82

Which of the following is correctly matched?

1. faohH QRIHR 2021 - TR DR
Vikram Awards 2021 - Manisha Keer
2. JHTY SIRfT REBR 2021 - golligg &
Prabhash Joshi Award 2021 - Mujahid Baig
3. oy REBR 2021 - AgdTd §ARAT
Vishwamitra Award 2021 - Mohanlal Bamboriya
4, A3Hersy 3rdlgic qREDPR 2021 - IadR R
RIS

Lifetime Achievement Award 2021 - Balveer
Singh Kushwaha

A 1,2

B.2, 4

C.123

D.1,2,3,4

66) HIRd 1 Ugail Afeel APUfd ST ST Wd
YR H gai ur?

The first woman President of India who was born
in independent India?

A. gt gfeRr wigh

Mrs. Indira Gandhi

B. STl wfawr ¢dt urfed

Mrs. Pratibha Devi Patil

C. ot ot IR,

Mrs. Draupadi Murmu

D. o TRISHT Ag

Shrimati Sarojini Naidu

67) BT 81 H GRI ISIH & J&- & &0 H
forgen] TG o B

Who has been nominated by the President as a
member of the Rajya Sabha recently?

1. Uict Iw1, @

PT Usha, Sports

2. SR, WidHR

llaiyaraaja, musician

3. 9% BTS, YHTSHE!

Virendra Hegde, social worker

4. 9 Il vrTe, ftber e

V Rajendra Prasad, film director

A1

B. 2,4

C.1,2

D.1,2,3,4

68) I TRPHR RT 12 HRAX 2022 DI T&HH
ST URY 1 715, 9 AreT $1 Hay fhad g7
The Muskaan scheme was launched by the
central government on 12 February 2022, with
whom is this scheme related?

A. 3MTTEaTE garsil ol a=rad ST

Empowering tribal youth

B. HRd ! WY & & H SATAMHR ST
Making India self-reliant in the health sector
C. TreieR IHer 3R RRaial & s & e
For the welfare of transgender community and
beggars

D. THTEEIRT 3R 3fef g TGl & HedT &
ferg

for the welfare of nomadic and semi-nomadic
communities

69) Fafafed o 9§ ®H U@ I8! 82
Which one of the following is correct?

A. SHTIRRE T - Y8 ¥ Y YRG! Bl dg
IRENEL

Operation Ganga - Evacuation of Indians
stranded in Sudan

B. SHTIRRM GG - gobT H Bl YR & a8
[REZNEL

Operation Dost - Evacuation of Indians stranded
in Ukraine

C. SRR ¢l AR - BT H B YR
CESRICICIECAREI

Operation Devi Shakti - Evacuation of Indians
stranded in Afghanistan

D. TR HIAX - gab! | Yabu yuifaal ot
BEEGICRGI
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Operation Kaveri - Helping earthquake victims in
Turkiye

70) BT 81 § HYeK Y P WHATNSD fabr SmanT
1 1Y DI a1 57

Who has recently become the chairperson of the
Social Development Commission of the United
Nations?

A. BfeRT el

Ruchira Kamboj

B. UfdiHT Urfee

Pratibha Patil

C. 3T AERPY

Ashish Chadorkar

D. 31 1t fheag

Naina Lal Kidwai

CSAT

1. 3T JSb W ST E & | 3D 31U &d g, fb
RIS 1 S 5, 39 U H offg .1 5 81?
You're going down the street. Suddenly you see
that an accident happens, what will you do in
this situation?

a. far1 Tl gigie & Ug R WY SfuH IR =ren
SRS

I will go straight my way without any hassle

b. FIRrel HIfSAT TR 3(Uers H & forg difsar
SARHI

Make videos to upload on social media

c. 31T U HiS[E AR & Heg | S

| will ask for help from the people around

d. TgaY 3R gfery ) ge & aR | gfid S
Will inform ambulance and police about the
incident

2. 3T 3 forg U HieTsd Wiled § | YIdH &
T GHER Hdl § fo 3R Wi anfeu @,
28% SITTHCT BT YT BT T | 319 39 Rufaq
H R BN

You buy a mobile for yourself. At the time of
payment, the shopkeeper says that if the receipt
is needed, then 28% GST will have to be paid.
What will you do in this situation?

a. U F9M & forg fomT Tfte & yiram & &ft
Will pay without receipt to save money

b. TR BT YITAH BT 3R IS W Bl

Pay taxes and receive receipts

c. 30 TRl b1 SATE T fo e & Hiarzd
HH P H VIaT S Gobll 3

Tell your friends that mobile can be purchased at
a lower price without receipt

%awﬁﬁﬁéﬁﬁﬁaaaﬂmah?mm

Request the shopkeeper to reduce the price
further

3. 3TIHT SR T TR TR HHCR R fifex Bt
FETdl Y XeX H T dTel Hel & bt fehe a1
AT 21 3R AT 32T el &) Hae I Ball g B
3T I & | U QI & U H {10 T HY?
Your friend makes fake tickets for the fair in the
city with the help of a computer and printer at
his home. And every day with the help of those
tickets, he go to fair and enjoy. What would you
do as a friend?

a. ToR SaTe D Hifcs 98 HTUDT JaY 3]
B

Ignore because he is your best friend

b. 39 fore oft $& fewel ot femis Hn

Will ask for some tickets for yourself too

c. 3 I ! FHNE! foh 95 5 YR I
ST Tt § gr @

Explain to your friend that he should stay away
from such fraudulent activities

g%%lﬂ%ﬂ%@%éﬂﬁ%@ﬁﬁw

Inform the police administration about his act

4. 3T WIS b GRT U HHANRA 3R I7b
ARSI & fo1E Tl HIST BT STTS T ST IgT
| 3BT U QIR SHTUH I BRIHH H o S BT
SFRIY FHRAT & | T AT BN

Your organization is organizing a banquet for its
employees and their families. A friend of yours
requests you to take him to that event. What will
you do?

a. 30 G § Hg'l b T8 HRIGH Had IRAR &
el o o &, 3R a8 9 XMfhe 781 81 Gebdl &
Tell your friend that this program is only for
family members, and he cannot attend it

g%mauﬁaﬁwﬁuﬁaﬂa%wﬁwﬁa

You will take your friend as a family member

c. 310 Tl GUR 98T & gRT 30 7 &I of oH
REE

You will avoid taking your friend by any other
excuse

WW%WWWW@WH@T
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You won't talk to your friend because he ask for | . U STl Ueh T &1 10 e H GR1 el §1 46

favor

5. TP THI DI i UI3TT A, B 3R C GRI 5 &S H
WRISAT | U C, B GIAT Ao § 3R B, A ¥
ST A €1 UTST A 31l ¢ &1 WRA H farer
UG T?

A tank is filled in 5 hours by three pipes A, B and
C. The pipe C is twice as fast as B and B is twice
as fast as A. How much time will pipe A alone
take to fill the tank?

a.20dc

20 Hours

b. 25 ©¢

25 Hours

c.309¢

30 Hours

d.359¢

35 Hours

6.0 YRR BIA B C DI AA5:2:4:3F
3rura § faafed faran ST 81 afe ¢ &1 D | 1000
IR 31 firera §, o B &1 fewan s 82

A sum of money is to be distributed among A, B,
C, D in the proportion of 5:2:4: 3. If C gets Rs.
1000 more than D, what is B's share?

a. 2000 ¥4

Rs 2000

b. 1000 3T

Rs 1000

c. 1500 394

Rs 1500

d. 2500 7

Rs 2500

7. 60 forHit/eieT & TIfd A I arell U ¢ U @y
B 9 Y3 T UR Bl 5. < B a8 T 82

A train running at the speed of 60 km/hr crosses
a pole in 9 seconds. What is the length of the
train?

a. 130 HicR

130m

b. 150 HIcR

150m

c. 170 Hiex

170m

d. 190 HieR

190m

AT BT Ugal YT YR 21 foswdt/de &t 1fd ¥ iR
GERT 31T YT 24 forel/det &t i ¥ 79 el 5.
foret & ot I 1 DI |

A man complete a journey in 10 hours. He
travels first half of the journey at the rate of 21
km/hr and second half at the rate of 24 km/hr.
Find the total journey in km.

a. 216 km

216km

b. 220 km

220km

€. 224 km

224km

d. 228 km

228km

9.7 6 G¥V 3R 8 ASb TP B B 10 faAT A
R THA § SIaiD 26 TIY 3R 48 ASH I8! PII
&1 2 faA H R gebd 8, ol I UBR & B bl
HRA T 15 TINI 3R 20 TSI g1 foram mar T
I I?

If 6 men and 8 boys can do a piece of work in 10
days while 26 men and 48 boys can do the same
in 2 days, the time taken by 15 men and 20 boys
in doing the same type of work will be?

a. 7 &

7 day

b. 5 fadt

5 day

c.4feq

4 day

d. 6 &

6 day

10. U oAfad A 9 9 12% U a¥ &1 TR0
TS &R R B fordT| 3 aul & d1e I8 el $fard
o foTT 5400 ¥UY TS BT YA DHRAT AT IFDb
TRISYR ol T o iRy o

A man took loan from a bank at the rate of 12%
p.a. simple interest. After 3 years he had to pay
Rs. 5400 interest only for the period. The
principal amount borrowed by him was

a. 12000rs

b. 15000rs

c. 18000rs

d. 20000rs
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fadm Wi | I 370 A UAD P 33 YT Bl R
T o feum| ST oy ufawra ot ur?

Sam purchased 20 dozens of toys at the rate of
Rs. 375 per dozen. He sold each one of them at
the rate of Rs. 33. What was his percentage
profit?

a.5.6%

b. 6.6%

C.7.6%

d. 8.6%

12. T % fdshdl & U $© I | 98 40% Jd
AT & 3R 3t oft ITb U 420 IS B | A T
IELERCRK

A fruit seller had some apples. He sells 40%
apples and still has 420 apples. Originally, he
had?

a. 550

b. 600

¢. 650

d. 700

13. U 3MTSH! 304 3¢ § 24 I 98181 &I o #,
JGD! 3T 3D LA I 3R D1 g of S|
I A B aq 1Y T 67

A man is 24 years older than his son. In two
years, his age will be twice the age of his son.
The present age of his son is?

a. 20 99

20 Years

b.22 a4

22 Years

.24 99

24 Years

d. 26 99

26 Years

14. Today is Monday. After 61 days, it will be:
3o AHAR 81 61 faAl & aTa, T R

a. JodR

Thursday

b. [hdR
Friday

c. AR
Saturday
d. AfdaR

Sunday

How many times do the hands of a clock
coincide in a day?

a. 21

b. 22

c.23

d. 24

16. T [h_HT HTART B foeh! AMAR 5 HHI &
foIT 6435 ¥UT, 6927 ¥UT, 6855 FUY, 7230 TTY
3R 6562 IUT g1 TS A & ITb U fabait
fawt Bt =TfeT afes I 3iraH 6500 U &
ICEaRIS RN

A grocer has a sale of Rs. 6435, Rs. 6927, Rs.
6855, Rs. 7230 and Rs. 6562 for 5 consecutive
months. How much sale must he have in the
sixth month so that he gets an average sale of
Rs. 65007

a. 533130

Rs. 5331

b. 6872 ¥UY

Rs. 6872

C. 712230

Rs. 7122

d. 4991 394

Rs. 4991

17. U AT B} AP Yol A 20% HI If Bl &,
1 $9% e | vfaRd gfs e

The percentage increase in the area of a
rectangle, if each of its sides is increased by 20%
is?

a. 44%

b. 36%

c. 48%

d. 40%

18. T BIdf 15 HIex ofaT 3R 12 Hiex a1 ® 1 Al
BRI 3R T & &FAHA BT AN IR aR! & &Tha
& INT & SRIR g, W BTt BT AT HT 57

A hallis 15 m long and 12 m broad. If the sum of
the areas of the floor and the ceiling is equal to
the sum of the areas of four walls, the volume of
the hall is?

a. 1100m3

b. 1200m3

¢. 1300m3

d. 1400m3
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19. 'LEADER' Xsg & 3H&R| Pl fdha a9
FarRYd faaT ST Wbl 57

In how many ways can the letters of the word
'LEADER' be arranged?

a. 280

b. 300

c. 320

d. 360

20. T ST BT WA 3R ITD 3fD! & R P
3T H SEAPR TGl W1 & ofid BT SR 36 5
I U1 & & 3! & o9 BT iR &1 57

The difference between a two-digit number and
the number obtained by interchanging the
positions of its digits is 36. What is the difference
between the two digits of that number?

a. 8

b.5

c.4

d.3

21.T% SaR § @l g3 Wit 1 3T HI0T 60° §
3R et 1 e R IR ¥ 4.6 Hiex 31 g4
W T W BT TS 72

The angle of elevation of a ladder leaning
against a wall is 60° and the foot of the ladder is
4.6 m away from the wall. The length of the
ladder is?

a.2.3m

b. 4.6m

c.7.8m

d.9.2m

22. YR 9 50,0009YY T A= b Teh
IR AT L= [hAT| B HeH & d1G, Hal
80,000%TY & Gofl & 1Y 9P 1Y IS T3 3
TS 7€, I 24,500 FU BT 1Y HHRT| A1H H
R 1 fea fobam ure

Simran started a software business by investing
Rs. 50,000. After six months, Nanda joined her
with a capital of Rs. 80,000. After 3 years, they
earned a profit of Rs. 24,500. What was Simran's
share in the profit?

a.Rs. 9,423

b. Rs. 10,250

c. Rs. 12,500

d. Rs. 10,500

23, T fohehe Tel & gt 10 3R] H, I ¢ Paal
3.2 11 282 X & A&I I Uga & folT Y 40
IRl T ¥ X 1 g A1fgT?

In the first 10 overs of a cricket game, the run
rate was only 3.2. What should be the run rate in
the remaining 40 overs to reach the target of
282 runs?

a.6

b. 6.25

c. 6.5

d.6.75

24. 835,734, 642, 751, 853, 981, 532
a. 751
b. 835
c. 532
d. 853

25. Fafdied # 9 fogd Hieie &1 e Jod
3 g7

Which of the following has the most number of
divisors?

a. 99

b. 101

c. 176

d. 182

U HHH 26 F 30 dP & forg f=m e
frafafed aR ard St < 3= (Ra iR
TITpE) &Y G ) e 2|

The following bar chart shows the composition
of the GDP two countries (India and Pakistan).

3 M & Jbd T IATG DI TR

Composition of GDP of Two Countries

o | [ |
- i F
70

60

50
Manufacturing
40

20 B Services
20 ® Agriculture
10

0 T

India Pakistan
26. Tfe UIfEd™ & $d GDP 10,000 FRIS ST
g @ fafafor gRT I a e IdTe H1 fRe
?

100

» Miscellaneous

m Exports

If the total GDP of Pakistan is Rs. 10,000 crore,
then a GDP accounted for by Manufacturing is?

a. 200 HIS TTY
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Rs.200 crore

b. 600 FRIS T
Rs.600 crore

¢. 2,000 PIS TG
Rs.2,000 crore

d. 6,000 IS TYY
Rs.6,000 crore

27. HRd & Hebdl IR ITG b1 fobefTT fgwan
Jar3il gRI feran §irdi 87

What fraction of India's GDP is accounted for by
Services?

a. (6/33)th

b. (1/5)th

c. (2/3)rd

d. 399 § IS 7T

None of these

28. 9f¢ URA &I Hd SIS 30,000 TS I §,
@ H, Jar 3R fafy THa R IdTE 1 e
1 57

If the total GDP of India is Rs.30,000 crores, then
the GDP accounted for by Agriculture, Services
and Miscellaneous is?

a. 18,500 BRI TYY

Rs.18,500 crore

b. 18,000 FRIS 3T

Rs.18,000 crore

¢. 21,000 TRIS ¥U

Rs.21,000 crore

d. 15,000 TS ST

Rs.15,000 crore

29. D 1 <=1 Hareft SR fafay ¥ sifie wHE &
ferg forieR &7

Which country accounts for higher earning out
of Services and Miscellaneous together?

a. HRd

India

b. TTfeBT

Pakistan

c. QI FHH A § 9E R §

Both spend equal amounts

d. feifea 7Y foran o gemdn

Cannot be determined

30. T¢ ST 2N & foIT o Febel TR IUTG
A §, O Y & A1eqd J UIfehed &1 31
@mﬁgmméwﬁmaﬁwﬁﬁmﬁ

If the total GDP is the same for both the
countries, then what percentage is Pakistan's
income through agriculture over India's income
through Services?

a. 100 %

b. 200 %

€. 13333 %

d. None of these

STH A DIs ol
31. feu e fom & Byl &t Tve d S|

Find the number of triangles in the given figure.

a. 8
b. 10
c. 12
d. 14

32. 39 fadhed &1 9T S faU 7T HaH &1 ord-
Bfa ¥ FAevear I firear Jadr g1

Choose the alternative which is closely
resembles the water-image of the given
combination.

NUCLEAR
(1) BYEITCUM
(3) MUCT 3vE

(2) MNCIEVE
(4) UINCT EVE

a. 1
b.?2
c.3
d. 4

33. 2 g a1 Ha® & fqwld Bae WR fdha- fdg
Bl

How many points will be on the face opposite to
in face which contains 2 points?
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34. IR foill ¥ Uh UG SATHTd BT I B
S U g (7) 1 UfdRIfud |

Select a suitable figure from the Answer Figures
that would replace the question mark (?).

Problem Figures: Answer
Figures:

Ifs e 1 | (e

® © O Mm @
3) @)
a. 1
b.2
c.3
d. 4

35. Uy g T RIM B A2

Which one will replace the question mark?

5]
JETRN /:\‘
4 3

a. 25
b. 37
c. 41
d. 47

36. Fafafad & & & a1 gh=n SgIgs § urn
Sl &7

Which one of the following is always found in
'‘Bravery'?

a. AJHqg

Experience

b. TIfeRT

Power

c. died

Courage

d. A

Knowledge

37. U Afad Sféur ot 3R 5 fobet Iafdn § iR
ﬁﬁaﬁﬁsﬁ??%&%ﬁaﬁﬁa‘aaﬁaﬂﬁ
3R g1 § 3R 5 fobelt Treren 81 319 I8 URMYD
Y P e d g2

A man walks 5 km toward south and then turns
to the right. After walking 3 km he turns to the
left and walks 5 km. Now in which direction is he
from the starting place?

a.

West

b. GfaroT

South

C. B?N—t{qc

North-East

d. af&ror-ufgm

South-West

38.A,P,R X, SR ZUG UG H S 51 S 3R Z
FEHTGIA MR P SATHGIR AP TS 3R 93T 5
P& i M &7

A, P, R, X, S and Z are sitting in arow. S and Z are
in the centre. A and P are at the ends. R is sitting
to the left of A. Who is to the right of P?

a. A

b. X

< S

d.zZ

39, fFgfoiRad & 9 3Rt ggan=a?
Find the odd man out.

2, 5,10, 17, 26, 37, 50, 64

a. 37

b. 64

c. 17

d. 26

40.7, 26, 63, 124, 215, 342, (....)
a. 511
b. 482
c. 623
d. 712

41. Catching the earlier train will give us the ......
to do some shopping.

Ugd ®! ¢ Udhe- U gH $© WIGR] &R &b
feremm

chance

b. HI'g
luck

c. gHTaAT
possibility
d. avlg
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42. T GHIST o SIS0 P G HRISIAI 67 | Agirl i sitting glumly on a bench readinga

The study of ancient societies is called?
a. 44 fagH

Anthropology

b. RTd@ faq

Archaeology

C.

History

d. et fagm=

Ethnology

43. $W;WH&-@HTW%I it T Tad
gl

Statements: Some actors are singers. All the
singers are dancers.

Conclusions:

1. 59 T T B1d B
Some actors are dancers.

2. 18 ft e T 76 ]
No singer is actor.

a. »ad (1) Frepd 9t 2
Only (1) conclusion follows
b. Fad (2) Py we &
Only (2) conclusion follows
A ()T QR) TSI’
Either (1) or (2) follows
d.Fd (1) R (2) TeT §

Neither (1) nor (2) follows

44. ELFA, GLHA, ILJA,
a. OLPA

b. KLMA

c. LLMA

d. KLLA

45. Wd IR B AP & SR Wod a1s §
SEuTR % IR & T1d1-fdr & Rierad fad §1 a8
SIeg ¥ Wieg 39 U &1 91 d IR sid o1 ard
€ 3TRTT B a1 TeaIfirl &) Skt §
T & fIT 7T 71 SEHTR & Tl & f5g
fRuf ot Ruic fiRkud o1 Bt arfee?

The school principal has received complaints
from parents about bullying in the school yard
during recess. He wants to investigate and end
this situation as soon as possible, so he has
asked the recess aides to watch closely. Which
situation should the recess aides report to the
principal?

a. Uh AS®! o9 IR 94T fhdre ug Tl § 3R 3
It 3 1Y STdEd Tl PR I8! 8l

, MLNA

book and not interacting with her peers.

b. TR Tsfhdl Ueh 3T ASH! Bl TR el § 3R
U1 T § o S T WR ST FHoal 5|

Four girls are surrounding another girl and seem
to have possession of her backpack.

c. & TSP TRBCHId BT a- -7 1 JA @ ©
3R SR ThYt TR W 769 IR @ o

Two boys are playing a one-on-one game of
basketball and are arguing over the last basket
scored.

d. T TSP TH goocs difsdl TH T ®| 7, o
A & A | 981 g1 Ul

Three boys are huddled over a handheld video
game, which isn't supposed to be on school
grounds.

46. fordTa BT STIRADHA &2
Book must require?

a. hYl

fiction

b. T

pages

c. o

pictures

d. a1

learning

47. HY. T feadid fbdre §a #, T S0 gRIT
ST T e 3 200 A1 78 9 160 I FGRI A
g

Statements: In a one day cricket match, the total
runs made by a team were 200. Out of these 160
runs were made by spinners.

Conclusions:

1. € &1 80% ol RU=Ri &1 gien 3|
80% of the team consists of spinners.
2. 3T Seeters fRUR 31

The opening batsmen were spinners.
a. Wﬁﬁv_@f | ‘v'l?ﬁ%

Only conclusion | follows

b. ad ey || TE 7

Only conclusion |l follows

card A gg g

Either | or Il follows

d.ad RIS IIE 8

Neither | nor Il follows
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FAST IAS ACADEMY

LIGHT:BLIND Statement | is the cause and statement Il is its

a. HTYUT: 77T effect

speech:dumb b. HYT || HRUT § 3R HYT | ITHT YT §

b. HIHT: dgrI Statement Il is the cause and statement | is its

language:deaf effect

c. Sl eafy . YA | 3R 1| T T BRI G

tongue:sound Both the statements | and Il are independent

d. 3{TaTel; U causes

voice:vibration d. BYT | IR BUF Il aﬁfvﬁawﬁ%um%
Both the statements | and Il are effects of

49. HYF: T B 5 T ITY 3HUH IH ﬁF{g'_Q'I o independent causes

TG A g

Statement: It is desirable to put the child in
school at the age of 5 or so.

EIIGIET

Assumptions:

1. 39 39 ¥ 51 fap ™ & Ifad TR d ugd
I § SR Hie & T R g 3

At that age the child reaches appropriate level of
development and is ready to learn.

2.?wwaﬁw$maaﬁaﬁmﬂﬁ
A gl

The schools do not admit children after six years
of age.

a. Sad ¥R | Safifed 2

Only assumption | is implicit

b. e YR || 3idFiRd &

Only assumption Il is implicit

cararian siatRa g

Either I or Il is implicit

d. A MR A sfafiRa g

Neither I nor Il is implicit

50. HY:

Statement

1. PR A 31 81 H IR-Herdl U YR gRT
U3 fhU ST aTel A1 UTSdehH| & [od Yedh
i forar & o s ara of 78 i S sgd
FHGI

The government has recently fixed the fees for
professional courses offered by the unaided
institutions which are much lower than the fees
charged last year.

2. 35g% BE! & TTal-fUdr 3 R-Tgrar e
GRIHI R dl S aTell 3= B & forly 7 fUod
T Ueb THR 3figier Y= fabar ol

The parents of the aspiring students launched a
severe agitation last year protesting against the
high fees charged by the unaided institutions.
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